CAUTION

DO NOT HANG ON CROSSBAR.
THIS IS DANGEROUS AND
MAY DAMAGE YOUR EQUIPMENT

THIS UNIT IS HEAVY, ALWAYS USE

AT LEAST TWO PEOPLE TO TRANSPORT
THIS GOAL

PLEASE NOTE:

1) FOR SAFE OPERATION AND CONTINUED
HIGH PERFORMANCE FROM THIS EQUIPMENT,
INSPECTION AND MAINTENANCE MUST BE
PERFORMED BEFORE EACH USE

2) USE OF THIS EQUIPMENT OTHER THAN
INTENDED, MAY BE HAZARDOUS.

3) ALTERATION OR MODIFICATION OF EQUIP-
MENT MAY BE HAZARDOUS. FOR REPAIR OR
REPLACEMENT, PLEASE CALL YOUR DEALER

Jaypro Sports

976 Hartford Turnpike
Waterford, CT 06385 USA
(800)243-0533
(800)988-3363 Fax
WWW.jaypro.com

MODEL NO.:

LG-50

PRODUCT NAME:
LACROSSE GOAL WITH
FLAT BACKSTAY

EFFECTIVE DATE:
DRAWN BY: JAC 2_1 1_04




JAYPRO SPORTS
LACROSSE GOAL WITH FLAT BACKSTAY, LG-50

LIST OF MATERIALS
PIECENO. PARTNO. DESCRIPTION QTY.
1 LG505 FLAT BACKSTAY 4
2 HN265 RETAINING WASHER M10 8
3 HW2047 FLAT WASHER M10 8
B HS287 HEX HEAD BOLT M10 8
5 LG5010 MOUNTING PLATE 2
6 LG5014 UPRIGHT 4
7 LG501 CROSSBAR 2
8 HS882 SOCKET HEAD SET SCREW M10X16 12
9 SR1727 GROUND ANCHOR 3/8” x 22” 6
ASSEMBLY INSTRUCTIONS
TOOLS REQUIRED: 9/16” OPEN END WRENCH (2) OR
ADJUSTABLE WRENCH (2)

1) POSITION BACKSTAYS (1) ON A LEVEL SURFACE AND JOIN REAR OF
GOAL USING THE MOUNTING PLATE (5) AND FASTENERS AS SHOWN
IN THE ILLUSTRATION. DO NOT TIGHTEN FASTENERS.

2) SLIP UPRIGHTS (6) ONTO THE HUB OF EACH BACKSTAY THEN PLACE
THE CROSSBAR (7) INTO POSITION. THE NET TIE RAILS FACE
TOWARD THE REAR OF THE GOAL.

3) SQUARE THE GOAL, CHECK FOR 72” INSIDE DIMENSION FOR THE
GOAL FACE. THEN, FULLY TIGHTEN ALL HARDWARE.

4) ONCE THE GOAL IS IN ITS PLACE ON THE FIELD, ANCHOR IT USING
THE THREE GROUND ANCHORS (9) PROVIDED.

5) CHECK HARDWARE BEFORE EACH USE TO ENSURE FASTENERS ARE
FULLY TIGHTENED.



